Random Cabinet
Random Box

mdf italia

Istruzioni di montaggio
Assembly Instructions
Montageanleitungen
Instructions de montage
Instrucciones de montaje

[

Design by Neuland Industriedesign

06.2023

V-1200-8610C6N



Random Cabinet Random Cabinet
Random Box

Hardware-kit
Kit de matériel M6X20 Adhesive

Kit de hardware grommet

B [m F

M4X5

Kit ferramenta
Hardware kit A ﬂ)ﬂﬂﬂﬂﬂﬂﬂﬁ E @ 1 é\

Al

C @D G

Bushing Bracket

Position the base according to the opening side of the doors.
Attention: buy stopper, dowel or screw suitable for the type of wall.

Cap




Random Box

T

©

7
\

X2

Attention: buy stopper, dowel or screw suitable for the type of wall.

For cleaning and maintenance, please see the information on the website www.mdfitalia.it



To be used for the coplanar flaking of Random

Sh|m element 5C with Random Cabinet and Random Box.

1 ! ] 1 it
N
Attention: buy stopper, dowel or Screw the two elements together
screw suitable for the type of wall. with two M6X20 screws provided (A).

\

If necessary, repeat the steps for inserting the bushing (Random instructions).

=V | L -
— ]

For cleaning and maintenance, please see the information on the website www.mdfitalia.it
M920198-0022-A



To be used for the coplanar flaking of Random

Sh|m element 5C with Random Cabinet and Random Box.

1 ! ] 1 it
N
Attention: buy stopper, dowel or Screw the two elements together
screw suitable for the type of wall. with two M6X20 screws provided (A).

1V | L
—

—

If necessary, repeat the steps for inserting the bushing (Random instructions).

V-1200-8610C6N

For cleaning and maintenance, please see the information on www.mdfitalia.it



To be used for the coplanar flaking of Random

Sh|m element 5C with Random Cabinet and Random Box.

1 ! ] 1 it
N
Attention: buy stopper, dowel or Screw the two elements together
screw suitable for the type of wall. with two M6X20 screws provided (A).

\

If necessary, repeat the steps for inserting the bushing (Random instructions).

=V | L -
— ]

M920198-0021-A

For cleaning and maintenance, please see the information on the website www.mdfitalia.it



Random 2C/3C/5C
Random Wood 2C/3C/5C

mdf italia

Istruzioni di montaggio
Assembly Instructions
Montageanleitungen
Instructions de montage
Instrucciones de montaje

Design by Neuland Industriedesign

06.2023

V-0200-8610C6N



Random 2C/3C/5C Random 2C/3C/5C

Kit de matériel Bushing X2 Adhesive
Kit de hardware grommet X2

B (& D

Cap X4 EX6

Kit ferramenta _ B
Hardware kit A C @
Hardware-kit
\\
\

Attention: buy stopper, dowel or screw

Random WOOd 2C/3C/5C suitable for the type of wall.

Kit ferramenta

Hardware kit A C @ C X2 %
Hardware-kit o]

Kit de matériel Bushing X2 Adhesive

Kit de hardware grommet X6

D L

EX6




Random Wood 2C/3C/5C

Attention: buy stopper, dowel or screw
suitable for the type of wall.

L
j

< =
=
<< ~—
=
= =
§<<
=
N =]
~
]

A A

T

//\7,\
M
AN

/\

For cleaning and maintenance, please see the information on the website www.mdfitalia.it




